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Instructions for candidates:-

L.
2.
3.

This exam is in two parts.
Part-I is related to Mental Ability Test.

Part-1T relates to Scholastic Aptitude Test. It consists
of nine subjects, details of which are given below:-

1)  Physics i)}  Chemistry
1it) Biology iv)  Mathematics
v} History vi) Geography
vii) Civics viii) Economics
ix} English

Each question carries one mark. All questions are
compulsory.

You have been provided with a answer sheet (OMR)
for this question paper. Darken the cotrect option of
each question in the answer sheet (OMR) with
black/blue ink.

Rough work may be done on the blank space
provided.

There is no negative marking in this question paper.

Do not use white fluid on OMR Answer Sheet.
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Mental! Ability

Directions (Q. 1-6) There is a number series following
a Pattern. One place is left blank. Find the correct
answer from the options.

1. 42,48,60,66,78

1 68 2) 93

3) 101 4) 104

2. 3 4 S,
2. V5 5 5V5 25

b g 6 1 6

)5\(5 )125 3) 25 4)25\/5 '
3. 15,31,64,131,?

1) 266 2) 256

3) 192 4 524

4. In acertain code language " HEALTH" is written as
GSKZDG, then how will " North" be written in that

code ?
1) OPSUI 2)  GSQNM
3) FRPML 4) IUSPO

5. Inacertain code language if 'SIR" is written as PSP 1
PR then'MAN' can be written as

1) PMANP 2} PMPAPN
3) MANP 4) MPANP

6. Arrange the following words according to dictionary
arrangement

a} Eagle b}  Earth

¢} Eager d) Early e Each
1) a,eb,dc 2) b,ad,c,e

3) b,ceda 4) ec,adb

Directions (Q. 7-8) The letters given below follow a
definite pattern. Find out the missing letters to

complete the pattern.
7. ba__cb__b__ bab__
1) cabb 2) acbb
3) bcaa 4) bacc
8. ab _baa _ ab__
1) baabb 2)  aabab
3) aaaaa 4) aabaa

9. Select the combination of numbers so ‘that the letters
arranged accordingly will form a meaningful word

D I F E R N
1 2 3 4 5 6
1) 1,43,625 2) 643521
3) 3,524,611 4 543,261

Hrafa HarsT

fsgem: (yua 1-6) 35 fod yuat faw wat @ 55t fo'st
aret &, fam fea wat o wmusft i 3 ) wet ot 39 et

fe'3 o 99 feasut fed ndt €39 93
1. 42,48,60,66,78
1) 68 2) 93
2) 101 4) 104
2. 2, 3 4, S, 9
V5 5 5Vs 25 ’
b 6 1 6
] —
) 5V 2) 125 3) 25 4)25«15
3. 15,31,64,131,2
) 266 2) 256
3) 192 4) 524

4. far 33 97 f€9 'HEALTH' § GSKZDG fafirn mrer
& @7 &9 TE fE9 'NORTH' & fa@* fefimr araarm?
1) OPSUI 2y GSQNM
3) FRPML 4) IUSPO

5. hﬁﬁ?Wﬁ?ﬁ'SIR'ﬁPSPIPRf&‘fH’HT#ETﬁB*
€7z I few 'MAN' § fa2 fafirr s

1) PMANP 2) PMPAPN
3) MANP 4) MPANP
6. feaemaeTd REeeR e gHgAI ad!
a) Eagle b) Earth
¢) Eager d) Early e} Each
1} a,eb,dc 2) b,a,d,c,e
3) b,ce,d,a 4) e, c,a,d,b

faadw (yu& 07-08) o7 &2 wiyg fe'a faufog gu our
WEAF IS I gU T FyaTaos s guI YT U ad |
7. ba_cb_b_bab

1) cabb 2) acbb
3) bcaa 4) bace
8. ab _ baa__ ab
1) baabb 2)  aabab
2) aaaaa 4) aabaa
9. Wat e wiAgT AT I AR wiEAd 7 Wy § Sete
foftare I It aEd HEC ¥ |
D I F E R N

1 23 4 5 6
1 1,4,3,6,2,5
3) 3!592541631

2) 6,4,3,5,2,1
4) 5,4,3,2,6,1




Direction : In the questlons (10-11) :

some symbols

have been given different meanings Read them
Properly and answer the questions with accurate
options.

- means =

- means =

10.

1.

= means <
A means +
<  means X
>  means —
+  means +
1) 6A3<5+4<2A6
3) 8+4>5+4+2A6
1) 2<4<5-6+3<2
3) 224>5=6+2<2

2) 6<3A5=4A2<6
4) 6+3>5+4+2A6
2) 2A4<5+6 <3<2
4) 2<4A5=6A3>12

fxgaw - yus (10- 1) g ida fied o o5 2 €=t
2 prowe e @ Hamw fed o o511 Ot § daft 3Tt ug
éna'ffeme‘ié‘a'ai'l

11.

12. 9%

TTHIBY
— ©THI®YH
= ©H3BYE
A TTH3IBT
< OH3®Y
> EYHIEH
+ EH3IBE +

I ® + ALY

1) 6A3<5+4<2A6

3) 8+4>5+4+2A6
1) 2<4<5-6+3<2
3) 2>4>5=6+2<2

2) 6<3A5=4A2<6
4y 6+3>5+4+2A6
2) 2A4<5+6 <3<2
4) 2<4A5=6A3>2

57 fefonwmaet o' wrots @0 &3 o | B 3915 © foees
mﬁﬁv%quVWR%mﬁwﬁl

12. Some students are sitting in row. B is sitting on the
extreme left of the row, K is sitting between V and R,
V is sitting next to M, M is sitting next to Band Qis
sitting next to R, who are sitting adjacent to v?

1) QandK 2) RandQ
3) MandK 4) KandR
13. Which figure represents sparrows, Birds and Mice?

OO@D.@

(3) @

14. Find the urban, corrupt employee in the following

diagram:
Rural People : <
—! Al «| [Urban Peaple
; ik
— p\AA ] 1
Employee
2 [Eo
ormupt People
(1) 11 (2) 9 (3) 7 4) 12

15. Aistaller than B but shorter than C, D is taller than A
but shorter than C, E is taller than B but shorter than
A.Whoisthe tallest among them ?

N D 2) C B 4y A
Directions (Q : 16-19) What will come in place of
question mark (?)

16.
44 64 | 100
34 49 | 169
54 81 7
1y 81 2) 144
3y 225 4y 64

frgfewaﬁrv M T nia® WA §57 T |, M, B F mars uH &
frm@Q,Ré‘»@r&wﬁaarﬁ,v%m@—gwﬁﬁa?
fafenradt 85 51
1y QwaK 2) Rm3Q
3) Mm3K 4y KmaR

13. Iz fafiprt fES fagar ('3 fodtut, i@ nid 99 few
FeuEaRgerd?

OOO@D@O

M (2) (3) (4)
14. ¥ fou fo'ze &8 afadt, fame aavadt B 91
N ]
wee Dy |swenee
—p\7[BA [ 1
Favadt .7
TR pSo.

(M _11 3) 7 4) 12
15. A, Byw&wéaezmeAé)‘wzruaC(s)avm

E,BEW%WAEW% Aot 3 &ur fevast
faazr 3
1) D 2)C 3)B a4y A

faeew (AT 16-19) fo'2 o Yot feg nea
a5 fEgdtnrdar? s R

l6.
44 | 64 | 100
34 | 49 | 169
54 { 81 ?
1) 8l 2) 144
3y 225 4 64




17. 5/ \6 6/ \7 4,/\8
12 21 7 ?
4 5 10

1) 30 2) 22
3 42 4) 32
1) 32 2) 44
3) 6l 4) 53
19. 8 7 8 9. 2 3
4 5 4 3 9 2
1) 6611 2) 207
3) 193 4) 607

20. Which of the following words cannot be made from
the letters given in question ?

DETERMINATION
1) MINT 2) TEAM
3) TAMED 4) NORTH

Directions (Q 21-23) There are five persons P, O, R, §
and T. One is football player, One is chess player and
one is hockey player. P and S are unmarried ladies and
do not Participate in any game. None of the ladies
plays chess or football. There is a married couple in
which T is the husband. Q is the brother of R and is
neither a chess player nor a hockey player

21. Who is the Football player ?

Iy p 2) Q

3) R 4) S
22. Whoisthe wifeof T?

1) P 2) Q

3) R 4) 8§
23. Who isthe hockey Player?

1) P 2y Q

3) R 4) S

24. Sunny Walked 6 metres facing towards East, then
took a right turn and walked a distance of 9 metres.
He then took a left turn and walked a distance of 6
metres. How far is he from the starting point ?
1) 15meires 2) 21 metres
3} 18 metres 4) 14 metres

25. A walks 5 metres towards east. then turns south and

17. Si i6 6j i‘? 4i ig
4 5 10

1) 30 2) 22

3 4) 33

) 6l
19. 5 (7 g 9 1° 3
$ 4 4 7509

1) 6611 2) 207
3 193 4y 607

20. fo'2 are mget @ »iyd' 3 95 fBfimr feS fags age 5ot
g e A AIET ?

o P2
2

DETERMINATION
1) MINT 2) TEAM
3) TAMED 4) NORTH

fsgew (Y5 21-23) P,Q,R S %3 T &t & 4w fonast o51
fe'q e fygdt 3, feq wgdw fuedi w3 feg ot er
fugrdt 3 1 Pw3 S anivdiort wigast o5 w2 fad St dw e
FTa1 5ut Bt &t 9t viva wadw AF Fewrw sot vt
fea fergar g3 far RS Tzt d,Q,Revsard wid
S aFIA 3 ot {39 fai Az erfyzrf 3N 31

21. geam oyt fagsr 37

1) P 2) Q

3 R 4) S
22. TEUISta=I?

1) P 2) Q

3 R ' 4) 8§
23, Tt g A= T?

1y P 2) Q

3) R 4) S

24.ﬁ?ﬁ6vﬂzaga'sre“3farw,fea'n'—;‘rﬁhwmé9mza
gﬁnﬂlmetru'%ﬁﬁwm—;f&ﬂzagfmm@amm%

wrifaa g Ffastgaiad?
1) 15¥eT 2) 2lvtew
3)  18mtew 4) 14+ee

25.A,5rﬁzayaaa%ﬂ@?rm§€uze%mz‘rm§ 10




26.

27.

28.

29.

30.

3.

walks 10 metres, then turns back and walks 20
metres, now he turns left and walks 5 metres. where is
he from the starting point and in which direction ?

1) 20 metres duenorth
2)  10metres duenorth
3) 10 metres due South
4) 15 metres duc north East

Pointing to 2 man in the photograph, a women says,
“He is the son of my sister's mother's husband.” How
is the man related to the woman ?

1) Father 2) Grand Father
3) Uncle 4) Brother
Which colour will come at the opposite of red colour?

i} Blue 2) Black

3)  White 4) Yellow

Which number will come at the bottom of last cube ?
H 3 2) 4

3) 6 4H 1

Which of the Following will come in place of the
question mark (?) in the following sequence ?

6C7,8F10,11714,15019, ?

1) 25U20 2) 20U25
3) 20U24 4) 19U25
ADG, GIM, MPS, ?

1) SVW 2) SVY

3) SUW 4) SWY

A person is to climb up a tree 60 feet high, In every
second, he climbs 5 feet, but slips 4 feet, After how
many seconds, he will be able to touch the top of the
tree.

1) 60
3) 58

2) 59
4) 56

Direction (Q. 32-34 ) questions are based on the sum of
multiplication. Solve it and answer the serial number

for correct option.
A B C D E
x 4
E D C B A
32 Valueof Ais ?
1y 7 2) 2
3) 8 4) 4
33. Value of Bis?
I 9 2) 8
“3) 1 4) 6

26.

27.

28.

29.

30.

31.

Wiza yae =5 yeeT I w3 10 Wieg sser difeg fue vs
TF20 Wz g5 T, feg Ty yger I w3 Sleg o ger
3190wy wrafaa fig 3 gt vt 3 3 w2 faw femr
fegd?

1) 20Hica€zaew 2) 10vicaGmesw

3)  10HiGTTUE €T 4) 15fteayeu<s

feT mrent &t 82 few@ 9% fe'a femadt & fao fa G
W Hd I @ e ySt e iE T IGR et e eR
fergdt s ot fawaT a7

1) fuzr 2) v

3) WA 4) ddv

BT J9TT ArHE =81 Aafa 3 faagr darvr=ar?

&

2y T
3y foer 4) utsr

»flad w= o JaBt A3ty 3 fauar i mdar?
&
B
1y 3 2) 4

3) 6 4) 1

= st st ffoums fog (D mas It wrRar?
6C7,8F10,11114,15019, ?

1} 25U20 2) 20U25

3}y 20024 4) 19025
ADG,GIM, MPS,?

1) SVW 2) SVY

3) SUW 4) SWY

fe'g fouadt & 60 32 €9 Toug 3 995" I W39 ffa
Afdzfeofonasdt Sgeogerd, (g4gedstAaanter
31 f&d Afds goie QU feviast weys @ i & g
saar?

1} 60 2)
3) 58 4)

59
56

fsaem: ((Es 32-34) fe9 fo'3 gz 3 wofeg
TS 39 et @ »iye & At dvig oot faasu S &

adl
A B C D E
x 4
E D C B A
32. AStahaatd?
n 7 2) 2
3) 8 4) 4
33. Betawzatd?
1 9 2) 8

3 1 4) 6




34 ValueofDis
Iy 3 2) 4
3) 5 4 7
Direction (Q. 35-37) Some equal cubes are arranged in

the form of a block as shown in figure. All the visible
surfaces of the block except the bottom are Painted.

35. How many
Cubes have no face Painted ?

n 27 2) 32
3) 36 4) 40
~ 36. How many cubes have only one face Painted ?
H 9 2) 45
- 3) 57 4) 62
-37. How many cubes have only two faces Painted ?
1) 0 2} 16
3) 20 4) 24

38. Ramesh and Santosh are ranked Eighth and Twelfth
respectively from the top in a class of 42 students.
What will be their respective ranks from the bottom
inthe class ?

1) 34™and30" 2) 31%and35°®
3) 36"and32" 4) 35"and31"

39. How many such 5°s are there in the following number
sequence each of which is immediately preceded by 3
or4 but not immediately followed by 8 or 9 ?
359545535845¢673
57554523510
1) Two 2) Three
3) Fowr 4) Five

40. Arrange the following properly and choose the proper
combination of sequence from given 4 options.

a. Diwali b. Independence day
c. Christmas d. Republic day

e. Holi

1) 1,3,52,4 2) 4,5,2,1,3

3)) 2,4,1,5,3 4) 4,5,1,2,3

41. Which figure can be fitted to figure 'x' so that it may

become acomplete square ?

X 1) (2) €) @
42. Figure 'x'is hidden in which of the given four figures ?
ol L =
i < X
~ N

X m» o’ @

34. Detaa &I
1} 3 2) 4
3) 5 -4 7

foaem: (YFs 35-37) F7 feq o we fea Sngad e gy
fe'o fe'3 o g5 A fa'37 fa'e fawfenr famr 31 358
foos § &7 Sngaa @ Ard fouret @ 33 faafont 3 dor
&3 famri -

11

g

|
F

H J S
35. fad we g& frg e &¢t i fagar Jaradt star dfemr?

1) 27 2) 32
3} 36 4)y 40

36. fad we 95 frgt e free (T fagar Y garaitsT fapur 37
1 9 2) 45
3) 57 4) 62

37. fad we v fagt e frer € foge Sardt3 aw o7
1 0 2) 16
3) 20 4) 24

38. INEWI AR S 42 fefenradtut @t g fo 5 Quad uit
T T 8T T 12T A S TS atFT 1TSS UR T

Sust e qHT I AES fags J=am?
1) 34=FtwI 0= 2) 3l-tmI st
3) 36TtmI 32 4) 35etmF3lEr

39. fovs 5 @9 wa 5 fad gt ‘I afag I fAr e va 5
Fufesti@ I At 4 nr@er IR (game RS9 T8 71 9
arger i

359545535845673
57554523510
1) & 2) f3=
3) 99 4) U=
40. 35 fafipnt < sta F931T fa€ w3 fEF e o9 feraht
CECMEERIC gLt K-yt DA T
a. dest b. mraet feew
c. fautm d gre3sgfesn
e. d8Y '
1y 1,3,5,2,4 2y 4,52,1,3
3y 2,4,1,5,3 4y 4,5,1,2,3

41. f&g gv fo'39 ‘x' o7% 97 fogq @9 faggr ¥
fuafenrare fa fage x’ feg<darsae a7

o3 EN [

X (1) (2) 3 4)
42. fage ‘x’ S FE 99 f9'3at &9 fam fda gl Siemr 37
LAl =
‘<§ u
b (1) (2) (3) 4)



43. Which figure among I, 2, 3, 4 will replace the
question mark according to series
QUESTION FIGURE " ANSWER FIGURE

ooa) 7

CAJ|ABO

AOCIOAOHAOOOA

o nmn @ ¢ @
44, Find the two figures in the following which are out of
Position and require inter changing of position to put

the entire serial in order.

m 6y (3 (4) (3
1) 2and3 2) 2and4
3) land$5 4) 4and5

45. In Problem figure two dots are ptaced. This figure is
followed by four answer fig., only one figure among
them fulfilling the same conditions as in problem fig.

PROBLEM FIGURE

ANSWER FIGURE

@) OO

) @ 3 @
Directions (Q. 46 and 47) In each of the following
questions there is a relationship between two figures
on the left side of the sign ::, The same relations ship
exists between the two, to the right side of sign ::, find
the correct alternative,.

46 QUESTION FIGURES: ANSWER FIGURES:
K:a k2| OONO A
47, QUESTION FIGURES: ANSWER FIGURES:

'AAA'ZE%_: H]E o ? HIIE

48. Find the mirrorimage of figure 'x

- B } !‘3

{x} (2) R E) 4

49, Find the water Image of figure 'x’

A5 NED

(x) ]

() (3} (4}

50. A square transparent paper with a pattern is given.
Find out from amongst the four altemnative figures
which would belike the one when the paper is folded
at dotted line.

[ |

AR RE

x) n 2) ) 4)

S |

[P |

43 Tea st wigng feasy 1, 2, 3 M3 4 &9 fauar fo'se

UHE W € AT 3v=ar |
yre fiag Frafdg
oaldlacoO0a » | |A0C OADIE]AO oo

@ & @
44. fe3 7¢ fazat &9 »ifad faaz S f&aet S Aqr & »rum
fegaeforrrae farg e gefeare st g ae)

P ENRR

(1 @ 3) ) G
1) 2m33 2) 2m34
3} 1mM35 4)  4MIS
45. fE3 e yrs fegofeo e fig sare am vs Imone 939
et & FETET MBI He T UdhT JaeT 3= |

O o-ad

OF @ ©F @)
fagem: (YH& 46 M3 47) Io fot yast feafonms : : @ ¥
Wi 2 fo'get fetarafug &, Aa uit e gt fegdt
&t i merfuyg Fe@ J%, o3 av fewsy f&@ mat
feasydtSTaqd)

M fag

o yws e CECACEL]
K A €2 OO0 g
47. uas fage T feTa

vy v HE ? m[g w%i H]E
S H

M

® (2)
49. fage x’ Trust feoyAifae s qi

(90 (8o (S8 |82 |C82

(x} (1) @ 3 (4)

50. fo'er @garary Urawant 9w Iy fee fegr famur &7

Faoe, faggr € ganraar?

(o %'"I S w]
« 1O | . ] 1
Oie ]| {loe] | B . i

) R ) @)



51,

52.

53.

54.

55.

56.

PHYSICS

Asatellite having circular orbit about the earth has a
kinetic energy Ex. What is the minimum amount of
energy to be added so that it escapes from the earth.

Ex Ex
D3 D 5
3) Ex 4) 2Ex

If power dissipated in the 9Q resistor in the circuit is
36 watt. The potential difference across the 2Q

resistoris - 90
T\
YAV, N
60
i A/\M_
%
1) 4voit 2) Svolt
3) 10volt 4)  2volt

A ball is released from the top of tower of height h
meter. It takes T seconds to reach the ground. What
is the position of the ball at T/3 second?

Th
9

4) l;—h m from the ground

1) % m from ground 2) m from the ground

3 &m from ground

9

A particle undergo uniform circular motion. About
which point on the plane of the circle will the
angular momentum of the particle remains
conserved.

1) Centre ofthe circle

2} Onthe circumstance of circle
3) Inside the circle

4) Qutside the circle

A body has mass 100 kg, what work has to done to
increase its velocity from 2m/s to 6m/s.

1) 100] 2)  200]
3) 16007 4) 600

1 dioptre is the power of a lens whose focal length is
1) 2m 2) im
3) 3m 4) L5m

51.

52,

53.

59.

55.

gfsa fefaprrs
U9t 3 TH9 a9 fT'T Soa sar ad Quarfo @ arsht Qe
ExJ1wWe T we ivfaat Qo ss feg uagt e dag 5
TITHTAFET J |

Ex Ex
1) EX X
) m 2} 2
3) Ex 4y 2Ex

Ad9 faast rege {99 9Q 3ua 3 36 watt fave? raat
Wﬂ?ﬁz’??zgéuaéfnfanﬁiymﬁaaﬁwﬁw

7 90
M NAATTT
FAVAV.N
oQ
I|||= AV AVAV N
S 20
1) 4882 2) 8=HE
3y 108se 4) 2TB2

h izg €5t geH (Tower) F fe'a dre gt aret, fond
g9dt 3 ugae set T AT o avt garfewr &1 T/3

Afge ¥ fegdreuest I fam Goret 372
h 7h

1) —'- Hieg 2) L3 e

' ) 9

3) %h-)-ﬂz-a 4) % Higw

fea g mis Sadt At fee T1dae et AaT @ fam fig

2 = A F=t ASarwafimie adait?
1) dadoded 2) dAIIug
3) JAgE g 4) dagdouYd

fan @rg ev v 100 kg 7, 89 € 91§ 2m/s F 6m/s

FaTue sot fast agvagaTuTar?
1) 100) 2y 2000
3) 1600] 4y  600]

- feq Erucs On Baw o rarSt § franel Gam gat -

1 HIea
1.5H=g

1) 2H23 2)
3} 3Hlew 4)



57.

58.

59.

60.

6l.

62.

63.

The essential difference between AC generator and
DC generatoris -

1) DC generator will generate a higher voltage
2) AC generator will generate a higher voltage

3) AC generator has slip rings while DC generator
has a commutator. '

4) AC generator has electric magnet where as DC
generator has permanent magnet.

A bullet of mass 60 gm moving with the velocity of
500 m/s is brought to rest in 0.01 sec. Its impulse
will be-

1) 40NS 1)
3) -20NS 4)

-30NS
+30NS

The radioactive decay of Uranium into Thorium is
represented by equation.
28 234

U-> Th+x
92 50
What willbe x
1} electron 2) proton
3) alphaparticle 4) neutron

Two bobs of masses 1 kg and 2 kg are suspended
from a rigid support by threads of length 4 m and 1
mrespectively. Find the ratio of their time period.

1) 4 2) 8
3) 2 4 12

An electron and proton enter a magnetic field with
equal velocities. Which one of them experiences
more force.

1) electron

2} proton

3) Itcannotbe predicted

4) Bothexperiences same force

Where should an object be placed in front of convex
lens to get areal image of the same size of the object

1) Atthe principal focus of the lens

2) Attwice the focal length

3) Atinfinity

4) Between optical centre of the lens and its
principal focus

The value 0f45°¢ temperature in Fahrenheit will be
1} 118°F 2) 113°F
3) 120°F 4) 115°F

57,

58.

59.

60.

61.

62.

63,

fair AC Asdea w3 DC Aedee few s waeJfa -

1) DC wadzs §atdsealvrager

2) ACHadTed TR IW/eT Uuragerd)

3) AC wxded fieg fedfaa foar © o 7 fa DC
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4) AC wx¥en fee fams §ua der §, ug DC #5ded
fEgred gua derdi

fem 60 A &t 500 m/s 231 575 vuh dga S TSt §
0.015 Af§w fe'g feaw namer f'S feuter femrr 4,

grernmedr [ (Impulse) féar Jam?
1) 40NS 2) -30NS
3) 20NS 4) +30NS

FGnafze wafamnd (U) @ @fenni (Th) fEa 3816~

wafee sfadt ¥ (decay) 35 fot miTees »wyAe
caRen wateT 3 | mtaee fee X dft §eem?

238 234
U= Th+x
92 90
1) fedwes 2) &
3) BT A 4) fs@zw

Flgerwafaoateriv 1 kg3 2kg 31875t F4m
wWT Im o 3yt T8 gfomt E fea SR g I
seafenr ifenr 31805t Tnrds e S ngur I oR?
1) 4 2y 8

3) 2 4) 12

T nied T3 s 1§ust (99 fagg fenar @ nigae
Fdarr|

1) fedaes

2) Yes .

3) gwfagrsdt ArRaer

4) & 9949 TH MBI AIC TS|

fakr =ng § ¥9% 850 ¥ AOWE ANS WEd E7
Trafea yfsfigyus aas et fae gueTyam

1) BEWEHYETRT

2) SoRtEAREH T

3) &3

4) [@HEATIMIHY TR fEaaadue 3

45°c IUNTS BT eraadie IiraT fFa ath s S¥ar?
1) 118°F 2) 113°F
3) 120°F 4) 115°F



64.
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69.

CHEMISTRY

You are given a solution of AgNO, which of the
following do you think cannot displace, Ag from
AgNO, solution. '

1) Magnesium 2)
3) Gold 4)

Zinc
Copper

The atomic number of four elements A, B, C, D are 6,
8, 10, 12 respectively. The two elements which can
react to form an ionic bond are -

1) AandD 2) BandC
3) AandC 4) BandD

Out of the following pair of compounds the
unsaturated compounds are-

1) C,H.andCH, 2)
3) CMH,andCH, 4)

CH,andCH,
CH,andCH,,

Which of following set of elements is written in order
of their increasing metallic character-

1) MgALSi ) C,ON
3) NaLpK 4) Be,Mg,Ca

Which of the following statements are correct about
properties of colloids -

a) Acolloid is a Homogenous mixture

b)  Thesize of particles of a colloidis too small to be
individually seen by naked eye.

c) Colloids are big enough to scatter a beam of
light passing through it & make its path visible-

1) a,b,carecorrect 2} bandcarecorrect
3) aandbarecorrect 4) aandcarecorrect
Assertion (A)

When we dip [ron nail into CuSO, Solution the colour
of solutions changes.

Reason (R) : Copper is less reactive than iron.

1) Both A and R are cerrect but R is not correct
reason forA

2) BothAandR are correct, R is correct reason for
A,

3) Aiscorrectand R is incorrect.

4) Aisincorrectand R is correct:
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1) AWMID 2)

anfes fefamrs

awéfnﬁaa'ai;?(AgNO,)?mﬁfawaléa
fafnit (&9 faust wa gt (Ag) § e e ameiee

v um fev ferafuz agmaer I
1) HaEhn 2) fi=w
3) A& 4y wUg

.99 FFA,B,C, D fagt St e wrz ifirr 6, 8, 10

wd 12 71 fegst (@S fagd o Famwun fee fafour aga
nifeat fus =g Y 75|

Bw3C

3) AmW3C 4) BwID

Jo ot Gforert @ 1% f€9 fauar v wifaug Gigat o
a1

1) CH, w3 CH, 2)
3) CH™M3CH, 4)

CH,™3 CH,,
CHm3CH,

FHHEAT IS
1) Mg, ALSI 2y C,0O,N
3) NaLiK 4y Be,Mg,Ca

I fefimrt fe e faua aus Sofeg T o st sla 1

a) feofEammEtdsd
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Arrange the Li, Be, B, C, N elements according to
increasing order of atomic radii.

1) N<C<B<Be<Li
2) C<Li<N<Be<B
3) Li<Be<B<C<N
4) B<Be<Li<C<N

Elements A, B, C having positions in periodic
table-

Group 16 Group 17
------ A

B C

a) Aisametal

b) Cissmallerinsize as comparedto B

¢} Element Agives negativity charged ion
1) a,bandcarecorrect

2) onlybandcarecorrect

3) onlybiscorrect

4) aandcare correct

Which of the following is having maximum double
bonds-

1) Propanone
3)

2)
4)

Benzene

Propene Propanol

Carbon atom in graphite is combined with how many
other carbon atomns-

1
3) 3

2) 2
4) 4
A solution contains 58.5 gm of common salt in 360

gm of water calculate the total number of protons in
solution.

1) 21x6.023x10”
3) 200x6.023x10”

22.8x6.023x 10"
228x6.023x 107

2)
4)
A solution of calcium hydroxide is used for white

washing walls. After two to three days of white
washing, walls start shining due to formation of

compound.
1) CaO 2) CaCoO,
3) CaSO, 4) Ca(HCO,),

Which mass of O, (Oxygen molecule) will contain
the same number of molecules as 2.5 moles of C,.

1) 180gm 2) 100gm
3 Tlgm 4) 80mg
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Li, Be, B, C, N 37 & g fewrA € TUC N MgAT
g IgItaat J<ait?
1) N<C<B<Be<Li

2) C<Li<N<Be<B
3) Li<Be<B<C<N
4) B<Be<Li<C<N

wregdt Rt fiefe f3s 33t A, B w3 C & "fudt s
fad mgAa 3

ITUN6 IgY17
------- A

B C

a)y Affgoadi

b) BaECTHEH (rIufenr) gerdI
c) 3 Afezaefagwfesféerdi

1) a,buIcstaITTISI

2) dEBbMI cITIFI

3) S=EBbLIFJ

4) amMIc3FTEI

I fefiput fee fan Gfoe feg g I €U Tad fus i@
T5|

1) Uss 2) &S
3)

R 4) .

as aferr g J|
D 1
3) 3

2) 2
4 4

fea W feT 58.5 I ATas a4 360 W uwel &9
Wz Jfewr 7)1 for Us &9 Qs & g5 Aftmr fdat
& :
21x6.023x10”
200x6.023x 107

22.8%6.023x 107
228x 6.023x 10

2)
3) 4)
FuH TEEITEATET € WS &% Tt 3 AdEl
gt ait 01 @ 1 {3 fost g /e &1t o8t dest
Fana nir wrat ¥ 1feg faw Gfate @ 9es I9a o d?

1) CaO 2) CaCoO,

3) CaSO, 4) Ca(HCO,),

O, (wartaE W) ¥ fad (m fee 2.5 e addts (Cl) @
FIHIHE U HE TE?
1) 180am

3) 713

2)
4)

1003
803H
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BIOLOGY

Which one of the following statement is true -

1) In humans there are two pairs of sex
chromosome.

2) A child who inherits an x chromosome from
father will be a boy.

3) A child who inherits an v chromosome from
father willbe a girl.

4) A child who inherits an x chromosome from
father will be a girl.

The Pancreas secretes Pancreatic Juice which

contains enzyme for digesting proteins.
1} Lipase 2)  Amylase
3) Zymase 4) Trypsin

Involuntary actions including blood pressure,
salivation and vomiting are controlled by-

1} Cerebellum 2) Pons

3) Cerebrum 4) Medulla

The correct pathway of blood in circulatory system
is-

1) Auricles — ventricles — Arteries - Veins

2) Ventricles — Auricles — Veins ~» Arteries

3) Ventricles — Veins = Arteries = Auricles

4) Veins - Ventricles — Arteries — Auricles

Heart muscle cells are -

1) Round, unbranched, uninucleate

2) Noncylinderical, branched and uninucleate
3) Cylindrical, unbranched and multi nucleate
4) Cylindrical, branched and uninucleate

Which of the following is the correct features of

‘Lymph’

1. It is similar to the plasma of blood, colourless
and contains less protein.

2. Similar to the WBC of blood, colourless and
contain more protein.

3. Similar to the RBC of blood and red in colour.
4. Itcontains more fat.
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Match the item in column-I with those in column-I1
and select the correct choice.

Column-1 Column-II

A | Food Chain| 1 |Elephant

B | Food Web |2 (Jackal

C | Herbivore |3 ?:&f:: o Smother

D | Carnivore | 4 |inter linked foed chain
1) A-3 B-4 C-1 D-2
2) A-2 B-1 C-3 D-4
3) A-1 B-2 C-3 D-4
4}y A-4 B-3 C-2 D-1

Which of the following is not a part of the female
reproductive system in human beings.

1) Ovary 2) Uterus
3) Vasdeferens 4) Fallopiantube

smoothens bone surface at joints and is
also present in the nose, ear, trachea & larynx.

1) Tendons 2)
3) Areolartissues 4)

Ligament
Cartilage

Which of the following plant group bear naked
seeds and usually perennial, evergreen and woody
are-

I) Pteridophyta
3) Bryophyte

2)
4)

Gymnosperms
Angiosperms

The site for complete digestion of carbohydrates,
proteins and fats is-

1) Large intestine
3) Small Intestine

Stomach
Mouth

2)
4)

Which of the following are characteristic features of

cells of Meristematic tissues -

1) Actively dividing cells with dense cytoplasm,
thick cell wall and prominent nuclei.

2) Actively dividing cells with dense cytoplasm,
thin cell wall and no vacuoles.

3) Actively dividing cells with little cytoplasm,
thin cetl wall and prominent nuclei.

4) Actively dividing cells with thin cytoplasm, thin
cell wall and no vacnoles

Potato and runners of grass is an example of -
2) Analogousorgans
4)  Atavism

1} Homologous organs
3} Vestigial organs

Which of the following are sensitive to sulphur
dioxide

1) Algae
3) Mosses

Lichens
Ferns

2)
4)

12

83.

84.

85.

86.

87.

BB.

89.

90.

-1 & fHBTs TaBH-11 &% aF W2 7t feasy

g
ase-1 TFEH-11

A | Fu& B3t 1 |omet

B|gwsas |2 |[faw

C | wraarat 3 e v

D | ATt 4 | o v i
1) A-3 B-4 C-1 D-2
2) A-2 B-1 C-3 D-4
3) A-1 B-2 C-3 D-4
4) A-4 B-3 C-2 D-1

Js fasfimtt f&9 vz Y & faua weryres yErat e
foRraat a7

1) wFaw 2) Egerat

3) gaa=tefas) 4y AP
...................... T AR, IFFT FUTT TS I
fegsa, &5, AT &BY I & fIgAR It d

1) ¢F& 2) fwarie

3) &Ngsefey 4) Gyt

s fefun fea fanegar e Ufot @R dar vt niee
J57?

1) ¢dfigeder 2) fiEmuer

3) grieberdter 4) WFEAUERH
.................... FIETElFde, [&s w3 dadt € yes
IS TTAEE I

1) H e 2y figer

3) &ftnped 4) WO

= fafiprt f&T faaat Natmenfaa st ot feimar &2

1) e35S fears HaT Ht o A ueag argT, et
F® §ut w3 Aead AUFE JTv |

2) o8 fegwstiar Awt o A® ueww arg,
UIE RS dat i3 JATat &It et

3) gIId fegis GaTRE e A yegaure, ugght
e &at w3 Fesa U Jev 3|

4) gaAE feaws Gar ATt o Ay uedw u3w,
UIEMt FE 0t T Jraratt SOt getiti

g W St fam fam It Qergas 957
1) AHATI HET 2)  FAHGURRT
3) dvafagrmEr 4) nefEa

FREsHIE 37
1) et
3) AW 4)

2) SHES
Hraaehat



91.

92.

93.

94.

- 95,

96.

97.

98.

99.

MATHEMATICS
If 37, 2+ !
P YT

Where x, y, zare inte%gers, then the value of x+y+z
is
6 2) 8
3) 7 4 2
If Sin x= Cos’ x, then the value of Cos’ x (1+Cos’ x)
will be
1)1 2) 0
3) 2 o -
If « and P are roots of a(x’~1)+2bx=0 and the
quadratic equation whose roots are 2a- L and

2B--(II— is px*+qx+r=0 then p+q+r is equal to

1) 2b 2) 6a-8b

3) 6b-8a 4 0 _

If S, denotes the sum of first n terms of an A-P, then
the value of [(S,, - S,,,) - (S,.- S,..)] will be

1) §,-8,, 2) nd

3) 0 4) SJn - Sn

Two dice ate thrown at the same time and product of

numbers appearing on them is noted. Probability
that the product is less than 9 will be

1 4
DRRET: A
17 2
3 36 4) o

If Arithmetic mean of numbers x , x,, X, X, -— X, i5 X
than Arithmetic mean of numbers ax+b, ax,+b,
ax,+b, ---, ax_+b where a and b are constants, will be
) x 2) npaX+nb

J) ax 4) ax+b

The average score of boys in class X in an exam is
71 and that of the girls in that class is 73. If the
average score of class X in that exam is 71.8 find the
ratio of number of boys to number of girls in that
class.

1y 1:2 2) 21

3) 233 4) 32

The altitude of an equilateral triangle is pcm. The
area of this triangle is

) pem’ 2) %chmz
3) %cmz 4) J% plom’

The sum of all two digit natural numbers which are
divisibleby 7 is
1) 743
3) 728

700
735

2)
4)

13
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afeg

37 _,, 1

Hag =21 ———— F2,fa%
13 X+l
Vi
X, y M3 z fuas Aftmiret 95, 37 x+y+z v ¥'e Jam|
1) 6 2) 8
3 7 4) -2

¥iwd Sin x=Cos’x 3 3t Cos’x (1+Cos’x) & KB
e

11 2y 0

32 4) -l

€ wrt miEdeE a(x’-1)+2bx=0 ¥ g a W3 B 751
ﬁaa@aéun'a‘tmﬁaaz,fméfmﬂa-—éw@ 2.1
T&, pX+qx+r=0 T¥ Ft pq+r T H'® TR

1) 2b 2) 6a-8b

3) 6b-8a 4 0
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»Oo 4 8§, -8,
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1 4
17 2
3) 16 4) ) _

Afvmmetx,, x, X,........... x, @ afefaa o X 31
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b Afagim oy, e v afesa Hors 33|

X 2) na%+nb

3) ax 4) aX+h

fan W feg mira et € safant & #ing w71
&M BT T IR i 73 %1 AT @R fifinr e
At 3 @ g8 fefonradut @ wing i 71.8 3= 3t
NS fea B33 w3 sty S Afer er U ugTRe
1) 12 2y 21
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The difference between two numbers is 1365. When
The larger number is divided by the smaller number,
the quotient is 6 and remainder is 15. Find the
smaller number

1) 240 2y 270

3) 295 4) 300

1f 75% of a number is added to 75, then the result is
number itself. The numberis

1) 50 2) 60

3) 300 4) 400
Find the product of

I3 ,.4|3 .124243

1) |3 2)3 3123 4} 4|3

The sum of the ages of 5 children bom at the
intervals of 3 years each is 50 years. What is the age
of youngest child ?

1) 4years 2) Syears

3) 10Qyears 4) 2 years
Which of the following trains is the fastest?

1) 25m/sec 2} 1500 m/min
3} 90 km/sec 4y  100km/sec

if y=5, then what is the value of 10y |y”ry2 ?

1)50\|2 2)100  3) 200. |5 4) 500

Themeanof 1>, 2°,3°,4°, 5%, 6", 7', is

) 10 2) 20

3) 30 4) 40

Simplify

3 |2 n 4|64+ 4{2500 4 6IR
D12 3 »32 NS

AD is bisector of ZA of AABC, which meets side
BCatD.IfBC=Kcm, CA=/cm,and AB=mcm,
then the length of DC (incm) is

K! Kfm+i) K
b mt+i 2) ! 3) m+!

4) K(]]:J;+l)

If area of a sector of circle bounded by an arc of
length 57 cm is equal to 20x cm’ then its radius (in
cm)is )
H12em  2)16ecm  3)8cm 4) i0cm

In right angled triangle AABC, £B=90°, AB= 5cm,
BC=12cm, then the area of in circle of this triangle

ABC will be-
2) 2nem’

1) 4nem’ 3} 13rem’ 4) 17rem’

©101.

14

100. T Ffpwrat fegarg wag 1365 & A€ 31 Aftmr § 82t
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Ffiwr &7 grgr fee OF 37 79RS 6 M3 TGt 15 59T
JIEA A u3Tad|
1} 240
3) 295

270
300

2)
4)
Haa fair At &7 75%, 75 feg afer 72 3t 53
=7 Gt Aforr yruz F€ I (Afeed yaT A

1) 50 2y 60

3y 300 4) 400

| ERRCIEIR . PZERCL Sl Sl
DN EREE

s A TW3d 58 75T 5 gfgmt It Guat ev iz 50
A% dIng 3 ef 59 gt Guaat geai ?

N 13 4) 413

1) 47 % 2) 8A®

3) 10 & 4) 129%®

o foiut fog faost daTst Ag 3 3w deant ?

1) 25Wi/AfE= 2)  1500M/fise
3) 90 fayit/Afas 4) 100faMi/ffas

AATy=533" 10y_ |y'-y eHEET/Ar?

1)50\|2 2100 3} 200- |5 4) 500

13,2°,3°, 4, 5,6, 7 eTHI & J=ar 7

iy 10 2y 20
3) 30 4y 40
IS 9

3QT+ 464+ 4[2500 4 ER
huJ2 23 Iz Hn(t

AABC fTAD, ZAe mggaa J,Afaga BC§
fig D €3 deer 31 799 BC=K 1, CA=/ v, 3
AB=m AH §2 gt DC €t &ume} (v feg) I=ait |

K/ K{m+I Km K(m+i
Do 2 (z 23 prey (m /
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T IJT T IITE 918 Iy fenAt 7 BT ¥I9es 20n
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HISTORY

Why was the Vietnam was called the first television
war?

1) Brought home stories from soldiers

2) Ledtoincrease sale of television sets
3) Battle scenes were shown on daily news
4) Television was invented.

Who said these lines “whether 1 am a Hindu, a
Mohammedan, a Parsi, a Christian or of any other
creed, I am above all an Indian. Qur country is India.
Our nationality is Indian.”

) DadaBhai Naoroji

2) Surenderanath Banerjee

3) Gopal Krishna Gokhale

4) Pherozeshah Mehta

Under which rules the sculpture of four lions was
built on Sarnath’s Pillar?

1) Samudragupta 2) Ashoka

3) Chandragupta 4) Harshavardhana

Who was the first Viceroy of India?
1) LordClive 2)  Warren Hastings
3) LordWilliam Bentinck 4)  Lord Canning

To whom, Guru Gobind Singh Ji had written
Zafarnama?

1) Babur 2)  Aurangzeb

3) Humayun 4) , Jahangir

During India’s freedom struggle which one of the
following led to the first ‘ All India Hartal*?

1) Protest against Jallianwala Bagh Massacre

2) Protestagainst Row LattAct .

3) Trial of Mahatma Gandhi

4) Arrtval of Simon Commission

In 1878 the Vernacular Press Act was modelled on
the-

1) French Press Laws 2) British Press Laws
3) IrishPressLaws 4) Scottish Press Laws

Who was the famous Sultan of Lodhi Dynasty?
1} Sikander Lodhi 2) Ibrahim Lodhi
3) DilawarKhanLodhi 4) DaulatKhan Lodhi

When was Nazi Party founded?
1) 1917 2)
3) 1920 4)

Who had started Masand system?
1} GuruHarRaiJi 2) GuruAngadDevli
3} Guru Nanak Dev Ji 4) GuruRamdasJi

“Who said these words, ‘Tremble, therefore, tyrants
ofthe world”?

1) Robert Damton 2) James Lackington
3) Louise/Sebastien Mercier 4)Thomas Paine

1918
1909
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ufast W 8 g9t ofl ArgT &9 393 7 w3 Rt
ufgors graatar

1) @ g AT 2) Hfgoeswisadt
3) IS foEs T 4y feammravfogr

Ae&a™ € A39 €F 99 Aet & wast faw € Ay fg
HETET gET?

1) ANETIUT 2y MAF

3) deddus 4) JONEIOE
g9g orufagsr oferafe d= w7

1) SUFIBET 2) TI5gHfeaa
3) ®s3Isfefomyifes 4) wazdfdar

ASIS™T SHE ¥ 17 difere fwr+t & fam & fafipsr?

a LY

1) 5=5g 2)  widdmy
3) fowg 4) AT

F93 T I II3" FAH 2975 ‘Ufosl ree ot a=Tvs’
fag a3t aret?

1) AfewiwsTgargfanret @ fedufay)

2) IZene v fegnfaal

3) warawrardt fegu argat ageel € fegufea)
4) AEMNS anvilEs v MgE @ fegufee

1878 8t erzgages N Hae famer sy Al?

1) sITiRTEs 2) fafenimags
3) wfeaR nTEs 4) wxferiRargs

B0t ST Ay 3 YT sery fan § ifewr ater e

1) frdeeadt 2) fewerdtrdt
3) fesreayt &t 4) eIyt
STt O% @ AEnuET I 3Et?

1) 1917 2} 1918

3) 1920 4) 1909

Wi ygr far aig Riaes #t & gg ats?

1) Fgfgafes 2) IGrEeSTH
3) IFFFTCIH 4) FJgIHeHH

feomae fan & ad, T feogn ama, g JU s das o
g famrdr

1) IHICTECS

2) avA &fdares

3) sfer nlmfens Wartma

4) BHRUS



122.

123.

124.

125.

126.

127.

128.

129.

GEOGRAPHY

Which among the following does not belong to the
list of leading sugarcane producing states?

1) Uttar Pradesh 2}  AndhraPradesh
3) Madhya Pradesh 4) Maharashtra

In which Union Territory maximum area is under
forest?

1) DadraandNagar Haveli

2) Andamanand Nicobar Islands
3) Delhi

4) Puducherry

Which agent causes the formation of V-shaped
valley?

2)
4)

1) snow wind

3) birdsand animals water
What type of soil is also known as *“Tea soil”.
1) mountain soil
3) desert soil

2)marshy soil
4) saline and alkaline soil

Which of the following state has the highest density
of roads?

1)y Goa
3) Kerala

2) Jammu and Kashmir
4) Haryana

What is the extent of ‘Tropical Heat Zone'?
1) 23%°Northto23}2° South
2) 23%°North to 66%:° North
3) 23'%°Southto 662° South
4) 66%° Northto 66'2° South

For which of the following industry, ‘Dhariwal’ 1s
famous as an important centre/place.

1) Cotton Textile Industry 2)  Woolen Industry
3) Jute Industry 4)  Silk Industry

Which of the major port of India is located in
Sundarbans Delta?

1) Kandla
3) Chennai

Mumbai
Haldia

2)
4)
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129.

g%

| =]
adtar@erd?
1) §FPyER
3) HOYEw

2)
4)

nftaET Yo w
HITHST

faraeerz e feTrg I Tueeig9d?
1) TETHS 59 IRE!

2) W3 fadaa Su AT

3) fe'=t

4) ygadt

V-mrag (@-mad) € Wt o fsanre fan aad
oHgTIET g ?

1) gd=

3) EtmMI Aaed

2)
4}

g=r
yrat

fan famt & A F gt e S fagrarerd?
1) ugggtfiiet 2) uuestiHaA
3) waEB Ha 4) yARAIIwA S

favafafyg foF faos av feT gt Stwaarsud?

1) 3 2) AWHITBHIT
3) 3BT 4y afewrer
greime ferae fa¥ FfagIad?

1) 23%°€e 323U TuE
2} 3% §ITT66Y§FT
3) 23%°EUT T 66'°TUE
4) 66%°FITT 66'°TUE

‘géfters’ fan QuGdr B WoSTYoE AW T I I
yfiad?

1) pStauETgeder
3) yens ST

2)
4)

gatauar Qetiar
I Getiar

Aoggs I8 fee g9g et faust uWy fresaro Ut 07
1) TFHT 2)  HuEl
3) 95% 4) TBEPAT



130. Which of the following place is influenced by

131.

132,

retreating or eastern monsoon?
1) Amritsar 2)
3) Mumbai 4)

Chennai
Shimla

Which of the following states are the major
products of copper?

1) Rajasthan and Madhya Pradesh
2) Odishaand Rajasthan

3) Maharashtra and Gujarat

4) Madhya Pradesh and Gujarat

Hyderabad is the capital of which state?
1) Telangana 2)  AndhraPradesh
3) Kamatka 4) . Tamilnadu
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130.
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132.

U5 fefimit (€9 fagsr mars zvum et 39t At yout
WaHS 3 ugrfeg Ferd?
1) wfiEwe

3) wudt

Erycis
T

"2}
4)

3 fahumit fe 8 faos I v Qauea g as?
1) THAEE IHTYST
2) @I amnes
3) HotoHGT T AT

4) HOyERI g3
Jegrae far o St awgrat 37

1) I&arar 2) wimgTyey
3) FIEed 4y Fhsag



133.

134.

135.

136.

137.

138.

139.

CIVICS

Who give the idea to establish the ‘Lok Adalat’?
1) Sh.P.N.Bhagwati

2) Dr.B.R. Ambedkar

3) Sh.LaiBahadur Shastri

4) Dr. T.N.Sheshan

Which words were included in preamble of Indian
constitution by 42nd amendment in 1976 -

1) Directive Principles

2) Democratic and Republic

3) Wethe people of India

4) Socialist, secular and unity of country

Which fundamental right is considered as the ‘Pillar
of Democracy’.

1) Righttoequality

2) Righttoreligious freedom

3) Rightto freedom

4) Righttoconstitutional remedies

How many members does Punjab send for Lok
Sabha and Rajya Sabha -

1) Lok Sabha-13
2) Lok Sabha-7
3) Lok Sabha-117
4} Lok Sabha-545

Rajya Sabha-7
RajyaSabha- 13
Rajya Sabha - 245
Rajya Sabha-12

Which rights are not given to foreigners?
2) SocialRights
4) CivilRights

1) Economic Rights
3) Political Rights

Who is the chairman of the Rajya Sabha?
1) Speaker 2)
3) President 4)

Vice-President

Prime-Minister

Who can transfer a Governor from one state to

another?
2} Parliament

4

1) Prime-Minister

3) President Supreme Court
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STafad ATHST

‘Fawesg St AguET o feaafard fesTat?
1) At AE. garest

2) 5.4t »9 wEedd

3) Fi®®EJed ST

4) Hietwis ARE

1976 feg 422F Afeursa Ry gt faus wae F9d!
ffeos dhypgTsT fET A3 a”

1) fmounma frors

2) SISt I =T

3) WAt IS TET

4) myAeTEl, Gan feguy TS e EaaT

fam Rfsa miery & ‘SadIe e i eredar fe g faprr
5.

1) Ar&3TeErsfgay

2) TRfHa AIIIST e uifuag

3) AdFEITErHiuad

4) Bfeafsa Guaaterfuas

7y 9 AT 3 IH AFT 881 gHew A8 R g &
T -

1) 3aAFT-13 FHAIT- T

2) SqAgT-7 THAI - 13
3) &FRI- 117 THAST - 245
4) BRI~ 545 FHAT - 12

oot & faas mifaarat 3 fag Fher famra?

1) wafaa mfggarat 3 2) mfRafaergt 3
3) gwsifganfaaasd 4) afsanfuaset 3
THAIT T IHINS IS Javd?

1) mitag 2) Qu-gmesust

3) FHcIUST 4)  yuEHIE

Fus fegaa T enoafEeds B AaeTy -
1) YyorEHIdt 2) HWRE
3) FHIIUST 4) FAIRETHESI



140. Which Indian Leader gave the idea of two natlons

141.

142,

(partition) before independence?
1) Mahatma Gandhi 2) JawaharLalNehm
3) LiakatAli 4) Mohd. AliJinah

How many countries are the member of U.N.O.
(United Nations) at present?

1) 193 2) 150
3) S1 4) 182
India opposes strongly -

1) United Nations

2) World peace

3} Racialism and Apartheid policy
4) Common Wealth ofNa_u'ons

- 19

140.
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142,

fam 3793t 337 & wrarelt T ufost S ont or fegrg fogr
At?

1) HITSHT I 2)ifsz A s afag
3) femagnst 4) e mwt fasra
HUSF T'HEd Aw ¥ WeaT of =5aws miY fee farest
fa=187

1) 193 2) 150

3) 51 4) 182

I YIS (F ez fesata -

1) REa3THST

2) WITIHed gt

3) FHBTEI eSSt

4) IHSINEH



143.

144.

145.

146.

147.

ECONOMICS

Which equation is true?

Price Index

1) Real Wages = W X

Money Wages

Price Index x 100

2) Real Wages =

Money Wages x Price Index
100

3) Real Wages =

Money Wages

4) Real Wages = Price Index

Economic activities are notrelated to;-

1) Production, consumption and work of House
wife.

2) Production, consumption and exchange.
3) Production, exchange and distribution.

4) Consumption, exchange and distribution.

Socialist Economy has features :-
A) Govt. Control

B} Collective ownership

C) Competition

D) Freedom of market forces

E) Social welfare

Whichone 15 true -
1) A,BandC 2) A,BandD
3) A,BandE 4) B,CandD

On the basis of ownership types of Economics are :-
1) Developed, mixed & capitalistic.

2) Capitalistic, developed and socialistic.

3) Mixed, developed and under developed.

4) Socialistic, capitalistic and mixed.

In India which one is not indicator of level of
economic development :-

1) Percapitaincome 2)
3) Population 4)

Expectation of life

Literacy rate

naYg HTH3J
143 faast Rflage sta 37
&g gea W
1) MHB Hegdls = ——a ﬁn=ﬂ x 100
Hefea Hagd!
2) HHE HHgdl- T3 Foa x 100
N vefoa Hegdt x dvg Fea W
= 100
Hefaer Hargdl
4) nHS Hagol- P

144 . fagsT AT wirsfae artfeutnt & fafag 59t J -
1) §3Ues, US I wWIg eI T aH

2) G3uEs, yuImI e

3) Gaues, TEieT I F

4) WU, TETHIET

ATt wiaE feerer e fermar=T e -
A) gt fawgas

B) AT HBEHT

C) »ryst HarasT

D) ¥ighut Sot I AU
E) A g8TEr

fegst fe S fagsTAGAT BT T -
1) A,BandC 2)
3) A,BandE 4)

145.

A,BandD
B,CandD

HTEdT & wUTd 3 wad feerar vt fari a5 -
1) feafnz, fimfag»3a ==

2) frtere, feafrg»a mre

3) fimfag, feafrs»z feammts

4) e, iFere w3 fimfeg now fe=mar

146.

147, a3 fe'g fagar wrafaa feam e Vg o Fea 531 37
1) yStfenastnmies 2) WRSHITEST
3) "AeAfymr 4) AYIITET



143,

149.

150.

How many banks were nationalised by Govt. of
Indiain 1980? -

1) 12
3) 7

2) 14
4) 8

Which of the following organisations looks after the
credit needs of Agriculture and Rural Development
in India?

1) ECI

3) NABARD

IDBI
ICAR

2)
4)

When there is investment made in the form of
education, training and medical care the population
becomes :-

1} working capital
3) fixed capital

2)
4

human capital

capital growth
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150

I3 AgFTT AT 1980 &9 &3 §at o aHedtag=
13 fapsm? -
1 12
37

2) 14

4) 8
Ug-feam wet afant ot feergraeat -
1) FCI 2) 1DBI
3} NABARD 4) ICAR

. 7 fifipnr, frusmet w3 fHog Aever @ gu fe's fasw

qIT AeT Yy, I ASAReAT o U UIE
CoE-ing

1) gt gt 2) WEWUw

3) Afgq vt 4) Uvtegr



ENGLISH

Q. (151-154) Read the comprehension passage
carefully and answer the following questions -

There are over a quarter of a million plant species. Only
600 or so are carnivorous who call, attract and eat bugs.
They live in bogs and places where the soil lacks
nutrients. Pitcher plants trick their prey into landing on
them. Sundew plants sparkle in the Sun but they are more
treacherous. They create mucilage to attract bugs. As they
fly in to cat, bugs become trapped in the object of their
desire as their tentacles respond to the prey by curling
around them. Bugs die in about 15 minutes and are then
dissolved by these plants in their enzymes. Corkscrew
plants have inviting stems. Curved hairs, line the inside of
the stems that allow insects to go up the stems, but not
back. Bugs who wander into the corkscrew plant find that
they are unable to escape. Bladderworts are plants that
live in water. Their traps are like small bladders hidden
beneath the water that sucks up the prey and the water
surrounding it.

Carnivorous plants have a hard time adapting to other
environments that shows that they thrive in delicate
environment which makes them not so hardy after all.

151. Which statement does the author most likely agree
with?

1) There are too many species of carnivorous
plants.

2) There are a few plant species in the world.
3) Only asmall number of plants are carnivorous.
4) Amajority of plants are carnivorous.

152. Which plants traps bugs in its stem and forces them

to walk forward?
2) Sundews
4) Pitcherplants

1) Corkscrew plants
3) Bladderworts

153. Which event happens last when Sundews eats a

meal?
1) The Sundews create mucilage.

2) The Sundew’s tentacles curl in response to the
prey

3) The bug is attracted to the mucilage.

4) The Sundew releases enzymes.

154. Which best defines the word treacherous?
1) Something that provides nutrients.

2) Something thatis very bright.
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watEt

3) Something that tastes delicious.
4) Something that has ahidden danger.

Q. (155-158) Read the comprehension passage
carefully and answer the following questions :-

In 1848, gold was found in California. Thousands of
people rushed there to get some. Many people liked living

there and decided to stay. At that time there was no train

line. In 1860 and 1861, the Pony Express was the fastest

way to get news to and from the West. It could make the

trip in just ten days. The Pony Express had 184 stations

along the trail. The stations were around ten miles apart.

This is about how far a horse could run at a gallop before

tiring. The rider would switch to a new horse at each

station and before resting he would give his mail pouch to

a new rider. The mail never stopped moving, even while

the horses and riders rested. Each rider had to weigh less

than 125 pounds. Speed was the key. Most of the riders.
were teenage boys who rode at a fast pace for upto 100

miles a day. If there was an emergency one might have to

ride 200 miles in a day. In its time running, the Pony

Express only lost one mail pouch. The Pony Express

played an important role for a time but it did not last.

155. Which best explains why Pony riders had to weigh
less than 125 pounds?

1) Heavier men were more expensive.

2) Horses were scared of heavier men.

3) Heavier men scared customers.

4) Horses could make quicker with lighter men.

156. How fast could the Pony Express take a letter from
California to Massoorie? _
1) 24 hours 2) Tendays
3) Twenty days 4) Onemonth
157. About how far did Pony Express riders travel on a
usual day?
1) 10miles 2) 200miles
3) 100 miles 4) 2000 miles
158. How many pouches did the Pony Express lose?
1) Never losta pouch
2) One
3) Two
4) Too many to keep track



Q. (159-162) Read the following passage and answer
the questions based on it.

Nehru was a many sided personality. He enjoyed reading
and writing books as much as he enjoyed fighting political
and social evils or residing tyranny. In him, the scientist
and the humanist were held in perfect balance. While he
kept looking at special problems from a scientific stand
point, he never forgot that we should nourish the total
man. As a scientist, he refused to believe in benevolent
power interested in men’s affairs. But, as a self
proclaimed non-believer, he loved affirming his faith in
life and the beauty of nature. Children he adored. Unlike
Wordsworth, he did not see him trailing clouds of glory
from the recent sojourn in heaven. He saw them as a
blossoms of promise and renewal, they only hope for
mankind.

159. Nehruthought that children-
1) were trailing clouds of glory
2) held promise for a better future
3) were like flowers to be loved and admired
4) held no hope for mankind.
160. Nehruenjoyed -
1) reading and writing books
2) fighting political and social evils
3) resisting tyranny
4) doingall the above and much more

161. Which of the statements reflects Nehru’s point of

view?
1) Humanism is more important than science.

2) Science is supreme and humanism is
subordinate to it.

~3) Science and Humanism are equally important.

4) There is no ground between science and
humanism.

162. A many sided personality means - _
1) acomplex personality

2) asecretive person

3) aperson having varied interests
4) acapable person

Q. (163-166) Read the comprehension passage
carefully and answer the following questions.

Tigers are the largest and most powerful of all the cat
species. Despite all of the tiger’s strength, the future of the
species is uncertain. It is estimated that at the start of the
20th century, there were over 1,00, 000 tigers living in the
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wild whose number has dwindled to just over 3,000.
Serious threats that tigers face come from Homo-sapiens
better known as humans. Tigers are hunted for many
reasons like their striped skin, which is worth $10,000 in
the black market. Though the fur would be an incentive
for poachers, other parts of tiger can fetch pretty penny.
Some people in China and other Asian countries believe
that tigers parts have healing properties. Traditional
Chinese medicine calls for the use of tiger bones in some
prescriptions. Tigers have also been hunted for the sake of
thrill in a game. Humans have done considerable damage
through the destruction of habitat. Over the past 100 years
tigers have lost 93% of their historic range. A major
obstacle to preserve tigers is the enormous amount of
territory that each tiger requires. There is no way to
preserve the wild tiger population without making large
sacrifices.

163. Which of the following is not a reason in the
paragraph explaining why tigers are hunted?
1) Because tiger’s skin is worth a lot of money.
2) Because tiger’s parts are used as medicine in
some cultures. .
3) Because some tigers attack local villagers.

4) Because tigers are hunted for enjoyment by
some people.

Which number is closest to the estimation of the
wild tiger population in 20037

1) 3000 2) 1,00,000
3) 140 4) 30,000

164.

165. Which best explains why tigers have lost so much

of their habitat according to the text?

1) Because humans are afraid of tigers.

2) Because tiger’s skin is very valuable.

3) Because humans have changed the land.

4) Because tigers need so much space to survive.

Based on information in the text, which best

explains why tigers are poached?

1) Poachers hunt tigers to protect their families
from dangerous animals.

2) Poachers hunt tigers for medicine to cure sick
family members.

3) Poachers hunt tigers to earn a large amount of
money.

4) Poachers hunt tigers because they enjoy killing
dangerous animals.

166.

Q. (167-168) The following five sentences come from a



single paragraph. The first and last sentence are given.
Choose the right order in which the sentences (PQR)
should appear to complete the paragraph.

167. S1. While talking to a group, one should feel self
confident and courageous.

82.
S3.
S4.
S5. Itis like the ability to play golf.

P. Itisnotasdifficult as most men imagine.

Q. One should also learn how to think calmly and
clearly.

R: Noris ita gift bestowed by providence on only a
few.

Choose from the options given below:

1} RPQ 2) PQR

3) QPR 4) QRP
168. S1,0Onceking Shantanu met a fisher girl.

82

S3.

S4.

S5. King Shantanu did not agree to the condition.

P. The fisherman agreed to it on one condition that
his daughter’s son should become the heir to the
throne.

Q. Hefellin love with the girl.

R: He went to fisherman to ask for her hand.
Choose from the options given below:

i) RPQ 2) PQR

3) QPR 4) QRP

Q. (169-170) The following questions have the second
sentence missing. Choose the appropriate sentence
from the given options to complete it.

169. A. In order to raise company profit, the employees
worked hard.

B.

C. However they offer to work over time without
any compensation.

1) They decided to raise the cost of raw material.
2) They decided to pay attention on quality.

3) They store and black market the manufactured
items.

4) They demanded two additional increments.
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170. A. Nothing comes out of nothing.
B.

C. Aperson who thinks that luck would favour him
without lifting his finger even, is living in a
fool’s paradise.

1) So, we should work hard.

2) Fate is supreme and everything can be gained by
it. ,

3) So,we should sitidie and hope for the best.

4) We should not worry at all and pay attention
only for our welfare.

Q.(171-180)
171. Fill in the blanks with the most appropriate option
from the given alternatives.

The economic
sales tremendously.

1} Touch down
3) Slow Down

has affected our

2} Show down
4) Crack Down

172. Now the management graduate can expect to have
a life in the city.
1) Menial 2) Tedious
3} Boring 4) prosperous
173, Thevillage was by the earthquake.
1) Dazed 2) Razed
3) Fused 4) Bemused
174. The committee decided to a new
member in the organization.
1) appoint 2) commit
3) detain 4) suggest
175. Theteacher his students.
1) survived 2} laughed
3) berated 4) shunted
176. The gypsies do not live at a particular
place.
1) broadly 2) willingly
3) voluntarily 4) permanently
177. She was remarkably in singing and

dancing.
1) conducive
3) accomplished

2) cooperative
4) fluctuating



178. following all the instructions  The term “broadband” refers to telecommunication in

closely, he missed out an important guidelines. which a wide band of frequency is ready to send
1) Instead of 2) Inspite of (186)___ . It (187)__ users to (188)
3) Although 4) Otherwise Internet at (189) speed than traditional (190) .
High-speed Internet allows users to (191) data
o processing and high-speed (192) technologies.
179, Google is otie of the most popular search engines, it 186. 1) Quotes 2) signals
is by the internet users, ’ 3) al A lgn
1) utilized 2) examined ) alarms ) chues
3) effected 4) flabbergasted .
187. 1) agrees 2) disables
180. Hersilence was taken as agreement. 3) allows 4) instigates
1) concluded 2) aggravated
) _ ) aggr 188. 1) access 2) digress
3) tacit 4) repented
3) regress 4) supress

Q. (181-185) Select the meaning of the underlined

phrase/idiom: 189. 1) lower 2) higher
181. Being the head of a family, he finds it difficult 3) regular . 4) normal
to keep his head above water.
1) Totakerest 2) Towork properly 190. 1) keypads 2) mouse
3) Toavoid quarrel 4) Tosurviveeasily ~ 3) monitor 4) modems
182. On the eve of inspection, everything was kept  191. 1} irregular 2) advance
in apple pie order. 3) optional 4) general
1) Inrandom order 2) [nperfectorder
3) Carelessly 4) Timely 192. 1) transferred 2) transmission
3)- fundamental 4) transcendental
183. Land has always been an apple of discord between '
two brothers. Q. (193-198) Choose the correct antonym from the
1) Cause of quarrel 2) Cause of happiness options given below:
3) Cause ofill health 4)Cause of contentment 193. Abdicate
' 1) Join 2) Search
184, Mohan had to look high and low before he could 3) Abandon 4) Advance
find his scooter key.
1) everywhere 2) nowherc 194, Rectify
3) somewhere 4) always 1) Bear 2) Correct
3) Validate 4) Destroy
185. We kept our fingers crossed till the final results
were declared. 195. Respite
1) feltscared 2) keptpraying 1} Break 2) Commencement
3) kept hopeful 4) waited anxiously 3) Fatigue 4) Continuation

Q. (186-192) In the folh.)wing passage, there aresome 15 (ppcaval
numbered blanks. Fill in the blanks by selecting the
most appropriate word for each blank from the given
options:

1)} Harmony 2) Radical change
3) Miracle 4) Dynamic
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197. Change the voice:-
He keptus waiting.
1) Wehad keptwaitingby him. -
2) We were kept waiting by him.
3) We had been kept waiting by him.
4) Were we kept waiting by him.
198. Whois laughing at the beggar?
1) By whom are the beggar being laughed at?
2) By whom is the beggar being laughed at?
3) Whom are the beggar being laughed at?
4) By whom were the beggar laughed at?
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Q. (199-200)

199.

200.

Choose the synonym of the underlined word from
the given options.

It is very difficult to retain all that you hear in the
class.

1) keep
3) recall

2) preserve
4) conserve

The story is too fantastic to be credible.
1) false 2) readable
3) believable 4) praise worthy




